§ 1 W= X 20224F#07 BURF 5 %5 IR B R R B EAE LR

i {256
20224F 18 55 IR AR 2022475 %5 REBIHATH
woE —ESE ERHEE —RHE% EWHESE
A R A=B+C B c D=E+F E F
531X 198. 96 198. 96 198. 96 198. 96

TEe 1 AR AR FEAHA . ARG I 3 M X 7 TR 5 55 PR B ATV BT 4

2. AR ML LA M7 B GO TE RSN RARER 2 — F HN AT



§ 2 ImAE X 2022 5 BUF — B iR 5 RBF LR

FBAfr: 27T

Hm H

HEH

PATH

v 2021AE AR H 5 BUR — W A5t 45 R A S B4
v 20225 AR T BURF— R 151 5% 4% i B
v 20224F 3 Ty BUR — A5 45 AT B

rh LB L L 1) [ R 4 b 2H 23RN A7 [ IEURF DY K
20224F b 77 BUN — M5t 25 R AT A

v 20225 BURF— A3 453 A

Fiv 20225 AR T BUN — TS5 AT AT £

A}

/\\

£,

202353 U7 A B 7

20234 b 5 BUR — M5t 55 R % R 40

2022955 B, LI



§ 3 I X 2022 5 BUF £ R F KRBT LR

s 1278
m B MEH PATH
. 20214 R M 75 BUR % Tif57 55 AR A0 S R 88. 00
T\ 20225 K 5 BUR L UG 55 AR A PR A 198. 96
=\ 20224F H )7 BUR & T 55 AT A 110. 96
VU 20224F 1 J7 BUR % 57 55 34 A<
T 20225 K T BUR % 53 55 R AT AT £ 198. 96

N~ 20235F 3 7 BUR L T 55 T 1 BR A5

20234 AR5 U B 5 55 AR A PR A




§ 4 = X5 BUR 35 ZAT RIEAAT BIFOLR

s 127G
m B A A X %

. 20224 RAT TR AT £L A=B+D
(—) — Ktz B
Forbr: RN 627 C

(=) Lhifsizs D 110. 96 110. 96
Horpr: W67 E
T\ 20224 AR TR T AT £L F=G+H
(—) — Ktz G
(=) Loifiids H
= 20224 BT HL [=J+K
(—) —Hfis J

(=) Luifsizs K 51491. 28 51,491. 28
PO, 2023418 AT 5 4L L=M+0
(—) — Mz M

Horbr: FREhBE
A BT 22 4 N
(=) Loifiids 0
Horbr: FREhE

WA B TS 22 HE p
Tiv 20234FA BT #L Q=R+S
(—) —kfizs R

(=) Loz S 9.01 9.01

T 1LARKAM XA | —E T BN G (B RBBE6R) AT LOEAA B BHATE. AEE

TT BRI AT B A5

2. AR BB LL ETT 5 BB T IHEA RN RARRR AR —+H N AT



§5 Im= X 20234 M5 BUR 3 55 FRAR AT TIE TR OLR

s 1276
T H A A X % T

. 20224 Hhy 77 BURF £t 55 BRI A=B+C 198. 96 198. 96
Forpre — e 55 IRA B

I 55 IR A C 198. 96 198. 96
T BERT R IA 120234 Hh 5 BURF {5 45 BT BR A D=F+F
Forpre — Bt 55 BRAR E

LI i 55 FR A F

T AR SR AR I X AR AR T 5175 (3t 07 BURF 53 95 PRS00, eiEL R B B3t 75 & I B T TE AR R F Rt S —FHAATT.



§ 6 IR X 202341 5 BUR R & R AT ZF LR

e A2
m B % K 7 X *% T4

. 202245 3 75 BUR 15 55 B A=B+C 198. 96 198. 96
Horpre — i 55 B4 B

& 51 55 A C 198. 96 198. 96
v 20234 MY M 7 BURF 5 55 B D=E+F
Forpre — i 55 B E

LI 5 55 R F
B = $RHT Ik 202348 37 18 1 75 BURT i 55 BR 401 G=H+I
Forbre BT 55 B H

B I 555 PR A I
=\ 20234 My J7 BUR 37 55 PR A J=K+L 198. 96 198. 96
Horbre AT 55 B K

151 55 PR A L 198. 96 198. 96

T L AR SRRAS I X R AR 2R 2 A 30 7 BUR 51 95 IR G 00, (i LR DL B3 77 & I BOHR T IE RI RN R H R e B s —+H N ATF.



§ 7 = X 20234F M T BUM Fr 8 i 55 RAE & L HER

LIS VAR 4w

s R UsE il

ZHR I AR

TE: ARG L EPIE T BUT 67 5t e 2, B RUL T &R BERT ERRNRREBEREH FRRE

HAET M B TT e —+HAN AT

20229 LS E B, LR



